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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which one of the following is a bad Thermal Conductor?
(a) Aluminium

(b) Copper

(c) Glass

(d) Silver
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Q. Who invented first working laser?
(a) A. H. Taylor

(b) W. K. Roentgen

(c) T. H. Maiman

(d) Fred Morrission
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Q. Meter in a vehicle that calculates distance covered by the vehicle is called

(a) Speedometer
(b) Odometer
(c) Thermometer
(d) Kilometre
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Q. What is the SI unit of pressure?
(a) Newton

(b) Weber

(c) Pascal

(d) Henry
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Q. Reflection from a smooth surface like that of a mirror is called

reflection.
(a) Regular
(b) Irregular
(c) Diffused
(d) Fused
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Q. What is the unit of resistance?
(a) Ohm

(b) Farad

(c) Henry

(d) Weber
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Q. Gravitational force is maximum at which of the following place?
(a) At equator

(b) At tropic of cancer
(c) At tropic of Capricorn
(d) At poles

. e 4 3 59 UM R Tareyur 9 sifiedd gidar g2
(T) YA W W

(@) Tb 3@ TR
GUREREICIH
(S gal W

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Gravitational force is maximum at which of the following place?
(a) At equator

(b) At tropic of cancer
(c) At tropic of Capricorn
(d) At poles

. e 4 3 59 UM R Tareyur 9 sifiedd gidar g2
(T) YA W W

(@) Tb 3@ TR
GUREREICIH
(S gal W

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Consider List-I and List-II of the parametric quantities and their respective
units:

List-1 List-11
A. Stethoscope To measure intensity of light
B. Sphygmomanometer To check purity of gold

To hear heart sound
To measure blood pressure

C. Caratometer

D. Lux meter

Match the above correctly:
A B C D

> W N =

@1 2 3 4
(b)4 3 2 1
(¢c3 4 2 1
d2 1 4 3
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Q. If you are using RADAR, then you are:
(a) Detecting object by using light waves
(b) Reflecting sound waves to detect objects

(c) Determining the presence and location of objects with radio waves
(d) Tracking rain-bearing clouds
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Q. Consider List-I and List-II of the parametric quantities and their respective
units:

List-1 List-11
A. Fathometer 1. Atmospheric pressure
B. Barometer 2. Atmospheric humidity
C. Hygrometer 3. Height
D. Altimeter 4. Depth of sea

Match the above correctly:
A B C D

@ 2 3 1 4
M4 1 2 3
@4 2 3 1
3 1 2 4
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Q. Which one of the following is not correctly matched?

(a) Manometer -  Pressure

(b) Carburetor - Internal Combustion Engine
(c) Cardiograph -  Heart Movement

(d) Seismometer - Curvature of surface
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Q. A teacher is teaching about the energy of wind. Which form of energy is the
teacher talking about?

(a) Only potential

(b) Only Kkinetic

(c) Electrical

(d) Potential and Kinetic both

u.qg?wwﬁmﬁ%aﬁﬁwwélﬁrwmmaﬁWﬁm
P G 87

(Q) ad JHTfad
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Q. You are on a train. The train is stationary. Suddenly the train starts to move
and your head moves backward. This happens because of:
(a) Inertia of rest

(b) Inertia of motion
(c) Moment of inertia
(d) Conservation of mass

U. MU A A g1 o7 RR g1 AP ¢ ga Tl 8 3R MUl RR 6 31 3k
IeT SITdT 8 | U1 $ferg gidT B:

(T) 3IRTH B SISl
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Q. Assertion (A): A man is standing on a completely frictionless surface and can’t move.

Reason (R): If no external force act on a system, its momentum cannot change.
Code:

(a) Both A and R are true and R is the correct explanation of A
(b) Both A and R are true but R is not a correct explanation of A
(c) Ais true but R is false

(d) A is false but R is true

. fUHYA (T) : T afad T a¥e A Uy IR Iag R Gl 8 3R I 181 gl
W%GI'IT) . gfe foft Mg R oI5 9 90 S 8] Har g, dF DT YA 8] 9¢d
HHdI g |

Pls:

() T 3 3R 31 e & 3R SR Y 31 HE TS 3 |
(@) T 3R 3R g T § Afp 3R T BT Jel TuFIHeor I81 8
() T I & AfPT AR BT R

@ TIBTE APT IR TI
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Q. A person walking on ice slips regularly while walks easily on concrete road.
What can be the possible reason?

(a) Ice is brittle than the road.

(b) Road is harder than the ice.

(c) Ice does not offer any reaction when we push it with our foot.

(d) Ice has a lesser friction than the road.

U. 9% TR Id4 9Tdl Sfad Hplc B I8 TR AT 9 I+ R Faffa  u A
e SITdT 8 1 SHTIAT HIRUT T g1 AhdT 82

(T) 9% TS B! g1 § HR &1
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Q. Choose the correct conclusion which can be drawn from the statement:

Statement: To start-off a loaded cart, one has to push it with more force than the force required
to keep it moving.

Conclusion:

(a) The weight of a moving object is less

(b) The wheels tend to slip initially

(c) There is less friction once the cart starts moving

(d) Practice makes perfect

v. gt e g1 5t HYF | e o 9@

HYA: Th U3 §3 ST Bl WIE-3HTh B3+ & forg, I AU ¥@H & e smaxas 9a § ifee
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Q. Who among the following is known for ‘Brahmasphuta Siddhant’ and

predated Newton’s theory by declaring that all things gravitate to earth?
(a) Aryabhatta

(b) Brahmagupta
(c) Varahamihira
(d) None of these

y. Fafafea 9 9 fod saegar Rigia & e SHm siran 8 iR 98 9190 #vd
8U ged & Risid I ugd i 9t el gdt 91 ok s fdia gidt 872
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Q. You can never stand straight in space. What could be the possible reason for

this?

(a) There is no gravity

(b) The gravitation forces of other planets and satellites with throw you off-
balance

(c) Solar wind exert an upward force

(d) Atmospheric pressure is very low

v. 3df¥er A g wHt WY T2 T8 8 b | SHBT AHIfAT HIRUT T Bl Jhdl 52
(gzrﬁgqug‘r aﬁvaqj%%%wwcfwwmamgmwéﬁ%
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Q. If from a spaceship, a leather-ball is released, then how will the ball react? It
will:

(a) Fall toward the earth

(b) Move along with the spaceship with the same speed
(c) Move at lower speed

(d) Move at higher speed

gﬁ[ﬁwm&ruﬂﬁmaﬁﬂ?ﬁ@mjﬁtmwaﬂm
? Y%

(Q) gt @t 3R AT
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Q. You go to a roof and drop three things - a piece of wood, wax and iron. All the
three are of equal size. Which one will reach the ground first?

(a) Wood

(b) Wax

(c) Iron

(d) Reach at the same time

Y. 37 Th Td W & g 3R dF Fs R & - aw st o1 th cpal, A 3R
gt JiFl U STHR & | B 9T Ugd JTHIH U UgN?

(Q) APSt

(s =

(¥t ieT L
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Q. Assertion (A): The weight of human being on moon is 1/6 in comparison to earth.
Reason (B): The moon has higher gravity than the earth.

Codes:

(a) Both A and R are true and R is correct explanation of A.

(b) Both A and R are true but R is not correct explanation of A.

(c) Ais true but R is false.

(d) A is false but R is true.

. FUFU (T) : T5HT IR A BT YR Gl & qa-1 | 1/6 g
g(ﬁ):mmmq@ﬁmél

(Q) T 3R 3R &1 97 8 3R 3R T Bl g TS 7|

(@ T 3R 3R Y T § Afp 3R T BT Jgl WFiHor A8 2|
() T 9 3 Afh AR FaT1 8|

(1) T a1 7 Afb R T B |
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Q. The time taken by a pendulum to complete one oscillation is called its?
(a) Maximum speed

(b) Average speed
(c) Time period
(d) Time interval

U. WP gRI1 TP gl T HIA | I GHT Seelrdl g ?
(@) fferwad fa

(&) 3fted i
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Q. If the weight of an object is 60 kg on earth what will be its weight on the
moon? (N = Newton)

(a) 60N

(b) 600N

(c) 100N

(d) 10N

. gfe fHdt avg 1 HR gt W= 60 fhuT € o 50T R IHBT YR fhaqr ghm?
(T = =)
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Q. The side mirrors of vehicles are of which type of mirrors?
(a) Convex

(b) Concave
(c) Plane
(d) Inverted
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Q. If the speed of an object moving along a straight line is constant, its motion is
said to be

(a) Uniform
(b) Periodic
(c) Circular
(d) Non-uniform

v. gfe fedt i a1 d afows ag &t afa RR 8, a1 S9! afa &
eI ATdaT 2|

(§) Y HHTA
(&) 3mafere
GURIGIEDR
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Q. The strength of a force is usually expressed by its

(a) Motion

(b) Direction
(c) Interaction
(d) Magnitude

. fodl 9a &t wfed &1 MHAR R 9P

oRT ad fHar SiTdr 2|
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Q. If objects appear enlarged and inverted in a rear view mirror, then which type
of mirror is used?

(a) Concave
(b) Convex

(c) Cylindrical
(d) Plane

v. i Uy TG oUor § avq St SR Iad) fowrs et €, 4t i v & adur &1
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Q. If objects appear enlarged and inverted in a rear view mirror, then which type
of mirror is used?
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Q. Soap bubble attains spherical shape due to

(a) Inertia

(b) Pressure

(c) Surface tension
(d) Viscosity
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(Q) sigdl

(&) gara

(&) Yad a1
(S)) feafeurge

& HRUT MATHR giaT g

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Soap bubble attains spherical shape due to

(a) Inertia

(b) Pressure

(c) Surface tension
(d) Viscosity

0. 199 BT gaqgal
(Q) sigdl

(&) gara

(&) Yad a1
(S)) feafeurge

& HRUT MATHR giaT g

Adda

e




Science | | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda

Q. Speed of light is maximum in
(a) Vacuum

(b) Solids

(c¢) Liquids

(d) Gases

U. UHTR &t d H 3iferpad gidl 2|

(T) dgH
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Q. What type of change takes place when sugar is dissolved in water?
(a) chemical

(b) physical
(c) chemical then physical
(d) physical then chemical

U. T B o § 9idq R fod UpR &1 ulad= gidr 82
(Q) ITafP

(@) Hifae

) Irafae fir vifae

1) Hifas fe e

e




Science | | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda

Q. What type of change takes place when sugar is dissolved in water?
(a) chemical

(b) physical
(c) chemical then physical
(d) physical then chemical

U. T B o § 9idq R fod UpR &1 ulad= gidr 82
(Q) ITafP

(@) Hifae

) Irafae fir vifae

1) Hifas fe e

e




Science | | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda

Q. Which of the following image cannot be obtained on a screen?
(a) no image is formed

(b) virtual image

(c) real image

(d) real and virtual image

. fFafeafaa @ 3 foa ufafde & 999 W wigd J81 forar < g« g2
(@) B wRf T aa
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Q. Which part of the gastric canal is involved in stool formation?
(a) small intestine

(b) anus
(c) colon
(d) stomach
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Q. What type of motion is involved with motion of the hands while running?
(a) Uniform motion

(b) Circular motion
(c) Motion along a straight line
(d) Oscillatory motion

. dlsd 9 1Yl &1 7ifd & g ypR &1 7fa 2 gidl 82
(Q) JU i
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Q. The combination of two or more cells is called a/an

(a) battery

(b) electromagnet
(c) fuse

(d) voltmeter
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Q. Electric bulb filament is made up of:
(a) lead

(b) copper
(c) aluminium
(d) tungsten
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Q. Which part of the banana plant is NOT used as food?
(a) Flower

(b) Stem
(c) Root
(d) Fruit
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Q. Names of some animals are given below.

i. Snake ii. Human
iil. Vulture iv. Deer
Which of the above animals form a pair of carnivores?
(a) Bothiand iv (b) Both ii and iv
(c) Both i and iii (d) Bothiandii
g. =ﬂ%r W SHaR] & A %E T E
Eﬂ'ﬁ

iii. ﬁl?s{ %ﬂ
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Q. In a cloud, lightning and thunder are produced simultaneously. If thunder is
heard by a man 7 s after the lightning is seen, how far is the cloud from the man?
(Speed of sound in air = 340 ms™1)

(a) 2.38 km (b) 1.69 km

(c) 1,500 m (d) 1,800 m

. dicd A 9Tl iR TRS U 91U IUd gid & | afe fordt aafaa &1 fasrelt awe
¥ 7 AP s T TSTSTEC YATS &t B, @t a1ga ongHt & fradt ¥ 272 (ga1 & @l
&1 Tfd = 340 ms™1)

(Q) 2.38 fordt (&) 1.69 et
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Q. A boy is pushing a table from left to right. The force of friction will act on the
table:

(a) vertically upwards
(b) from left to right

(c) from right to left

(d) vertically downwards
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